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Instructions :

(i)

(iii)

(iv)

)

All questions are compulsory.
T ShHih 1§ 8 Toh AT U € | Tesh U9 W 1 37k 3Tmeifed ¥ |
Question Nos. 1 to 8 are very short answer type questions. Each

question carries 1 mark.

T hHTH 9 W 12 T TISTT U9 § | YA Y W 3 3 aefeq ¥
(STR T SAferhad wea-FHT 50 U3 §)

Question Nos. 9 to 12 are short answer type questions. Each question
carries 3 marks. (Maximum word-limit of answer is 50 words)

T IR 13 H 18 Th SESTIE U B | Tsh Yo H Sfideh fohed T |
T U9 W 4 3ieh Aeifed € | (ST I SAfHehad wes—HHT 75 58 §)
Question Nos. 13 to 18 are long answer type questions. Each question
has internal choice. Each question carries 4 marks. (Maximum
word-limit of answer is 75 words)

T A 19 § 24 T ST T § | Toieh U9 | 3Tiaieh faehed |
T U9 W 6 37k AEfed €1 (IW T 3ifershad - 250 T ¥)

Question Nos. 19 to 24 are long answer type questions. Each question

has internal choice. Each question carries 6 marks. (Maximum

word-limit of answer is 250 words)
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[2]
ek o] fFd hed €2

What are called Complementary Goods?
ool S § F S i e

How is price determined in Perfect Competition?

SR UM A T ?
What is Double Counting?

SEATARYT T 1 § ?

What is Transfer Payment?

IR STd Sk 1 USR] el 3Tl ?

When was the Reserve Bank of India nationalized ?

5T i e TIfd F 1 SR € 2

What is meant by currency movement?

ettt o foRd shed © ?

What is called Progressive Tax?

o =Y Tohd ohgd © ?

What is called Revenue Expenditure?

YR Eee St A fAafae (e @) |

Write the assumptions of Consumer Equilibrium (any three).

THITHHR SR i hIE 4 faeand fafam |

Write any three characteristics of Monopoly Market.

H9 1929 h! HETHS! I IUMH AT |

Describe the Great Depression of 1929.
TR ford el ot gfd & foe o ot ® 2 fafaw (i @) |

For what purposes the Government takes loan? Write (any three).

[1+1+1=3]

[1+1+1=3]

[3]

[1+1+1=3]
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yg-13  fefafea vt 9 o fafy & g Usi ST &1 0T Sifse [2+2=4]
o = (T T )
(i) =TT 1 aRgfhes 15,000
(if) oH 5,000
(iii) <Y 25,000
(iv) =t 5,000
(v) qIerE 1,000
(vi) e =R fafm 25,000
Calculate the National Income by the income method from the
following data :
Items (inEciE?e“:iJ;ZZs)
(i) Remuneration of employees 15,000
(ii) Rent 5,000
(iii) Profit 25,000
(iv) Interest 5,000
(v) Depreciation 1,000
(vi) Gross domestic investment 25,000
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[4]
arerar
OR

frefafed el @ =0 faftr grn wwia em 6t TTomT i

e =TI (HAS TUITH )
({) o0 9 "SI 4,000
(if) fertrn 700
(iit) <Y 1,300
(iv) == 500
(v) 3991 =F 4,000
(vi) Hehet = fafm 1,500
(vii) 315 faceh faf=m 1,000

Calculate the National Income by expenditure method from the

following data :

Items Expenditure
(in crore rupees)
(i) Salary and wages 4,000
(i) Rent 700
(iii) Profit 1,300
(iv) Interest 500
(v) Consumption expenditure 4,000
(vi) Gross domestic investment 1,500
(vii) Net foreign investment 1,000

M-33A+



[5]
U9A-14 ST UK & K H 3 & HIdi bl fafEy (5 Fm0) | [1+1+1+1=4]

Write the sources of income from tax of State Government

(any four).

OR

FrefrerEel ol Yars €Y 9§ AN & oIt il osie i sasdendl i
Bt T ? IR |

Why Government Budget is needed to run the economy smoothly?

Explain.

Wo-15  qXcidl e 91 § 2 Y@ shi Werad | T shife | [2+2=4]
What is Liquidity Loop? Explain with the help of diagram.
3rerar
OR

Sonl % e fafegn (FE o) | [1+1+1+1=4]

Write the importance of Banks (any four).

U9A-16  T[ST S1E] To USRI B2 § STk S SISy (hIE FW) | [1+1+1+1=4]
Explain the difference between Revenue Deficit and Fiscal Deficit
(any four).
3ear

OR

e H w2 § gy % SRl w1 fafae (FE 9w |

Write the causes of increase of Public Expenditure in India (any four).
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[6]
U9T-17 =¥ oik wufie stefures o) ureafier fuitar 1 g S (FE =90 |
[1+1+1+1=4]

Explain the interdependence of Micro- and Macro-economics (any four).
3rar
OR

RiSHa ASHEG AdTTEN T AR STfaee H 3 T Hifeg
(T =) |

Distinguish between Centrally Planned Economy and Market

Economy (any four).
UT-18 TR Tfaaifitar =i fosivamd fafay (i =) | [1+1+1+1=4]
Write the characteristics of Monopolistic Competition (any four).

s7ear
OR

STIHIC T SElehdd H ST T hitelg, (g &) |

Distinguish between Short Period and Long Period (any four).

U9A-19  HI % 99 & @] 1 % Rl w1 fafe (aE 8t) | [1+1+1+1+1+1=6]
Write the causes of implementation of Law of Demand (any six).
3rar
OR
SYAT § 1 A § 2 SYATAT ki IS urer fowmand fafey | [1+5=6]

What is meant by Utility? Write any five characteristics of utility.

UA-20 U 3 & TAF &1 = faftr & wam § o1 waenfar Wt =nfee ?
fafau | [1+1+1+1+1+1=6]
What precautions should be taken while calculating National Income

by Expenditure Method? Write.

M-33A+



[71
3rerar

OR

T 3 & TEed ol T ST (FHE 57) |

Explain the importance of National Income (any six).

qo-21 31l g s 6t fadvand fafew (8 o) | [1+1+1+1+1+1=6]
Write the characteristics of Imperfect Competition Market (any six).
3rear
OR
SR o T 9 o § 3T<R T hIT (FE 87) |
Distinguish between Market Price and Normal Price (any six).
gya-22 9 H IRE S Sgad Jod T 1 Y9E ISl © 2 @ g 99t [3+3=6]
What is effect of change in supply on equilibrium price? Explain
with diagram.
3rerar
OR
Gqe &iFd qe1 O fRe YR gfad et €, Sid Susest &
3 H—
(31 gfg T &;
(F) HHEAT? [24+2+2=6]
How are equilibrium price and quantity affected, when a consumer’s
income—
(a) increases;
(b) decreases?
M-33A+ P.T.O.
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[8]
f5d S =1 Tenun fora-for SeEal 1 oo &t T € 2 T Shifee

(g T7) |
[1+1+1+1+1+1=6]
For what purposes has the Reserve Bank been established?

Explain (any six).

3Fgar

OR

T % 1l ol fafEe (FE 87) |

Write the functions of Money (any six).

i TR & Fdd STANTT § IRSIRe FHael ol difererl Td @nae
& T § T Hi | [2+2+2=6]
Explain the mutual relationship between Marginal Utility and Total

Utility with the help of table and diagram.

sfeqar

OR

Hi17 o 7o skt wfes sare wifsu |

Explain the Law of Demand with diagram.

oooooooooo
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